
Bumper support

Front body mount

Rear body mount left

Bumper state

M3x10mm flathead

M3x8mm flathead

M3x6mm buttonhead

M3x15mm flathead

R pin

Body post

Rear body mount right

BAG

W

--X 4

--X 8

--X 2

--X 2

--X 4

--X 1

--X 1

--X 1

--X 1

--X 1

--X 2

M3x15 mm

M3x15 mm

M3x10 mm
M3x10 mm

M3x8 mm

P.13


